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pot.(some/much)

3. Arethere......... apple trees in the
garden.(whole/any)

4. Sunday isthe .......... day of the

Class | Subject | Topic/ | Home Assignment Worksheet Reference link
Chapter
\Y English Ch-8 Assignment to be done in the notebook. https://youtu.be/iUEIDZL GgfQ
language | Kinds of
Adjectives
A.Fill in the blanks with adjectives of quality
07.09.2020 | given in the box.
Careless  Noisy Large Scenic
Inferior Sincere  Delicious Old 1
Boring Violent t was
a
......... film so we walked out before the interval.
2. Weenjoyed a............. drive round the hills.
3. Mother prepared a ............ pudding for the
guests.
4. Sunaina is making ............... efforts to qualify
the test.
5. The Kohinoor diamond looks like a........ walnut
6. The........ neighbours make studying difficult
for Mamta.
7. Everyone says that the......... building is
haunted.
8. The........ storm uprooted many trees.
9. The........ doctor is responsible for Sheela’s
late recovery.
10. The cloth was of ...... quality.
Answers:
1.boring. 2.scenic 3. Delicious. 4. Sincere. 5. Large.
6.noisy. 7. Old. 8. Violent. 9. Careless 10. Inferior
B.Fill in the blanks with correct adjectives of
quantity or number.
1. The doctor asked us to take ............ care of
grandma.(little/great)
14.09.2020 2. Thereis........ tea left in the



https://youtu.be/iUEJDZLGqfQ

21.09.2020

week.(one/first)

5. Goldilocks ate up .......... the
porridge.(all/sufficient)
6. Shedidn’teat........... breakfast because of

her stomach ache.(much/many)

7. The weather department has predicted.........
rain this year.(enough/sufficient)

8. Hesaved......... his money for his higher
studies.(all/any)

9. The hand has ........ fingers.(five/fifth)

10. I have ....... faith in politics of this
kind.(little/much)

Answers:
l.great  2.some 3.any 4 first
5.all 6.much 7.sufficient  8.all

9.five 10.little

C. Match these sentences with the correct
demonstrative adjectives. There can be more
than one correct answer.

Sentence Demonstrative
Adjective

1o, wedding dress has
been designed by Neena.
2 i girls are from my
college. This
3 house is the biggest in
locality. That
4. ... tree is an oak tree.
5 i children are my These
neighbours.

6. I like....... paintings and not | Those
those.

T potatoes are
overcooked and taste bad.

8. e girl is taller than my
cousin.

Q... pots have been painted
by my sister.

10. The bottles were packed
iN......... factory.

Answers:
1. This/That
2. These/Those




28.09.2020

This/That
This/That
These/Those
These
These/Those
This/That

. These/Those
0. This/That

BOXoN U A~W

D. Fill in the blanks with suitable interrogative
adjectives.

1 colour is the sky?

2. In.......... society did you book your
house?

3. e car will take us to the school today?

4, . medicine did the doctor prescribe?

5 i presents did you get on your
birthday?

6. .o advice did the priest give to his
congregation?

T, wet shocks are these?

8. . road leads to the riverside?

9. kind of wood is this stool made of?

10. ......... suggestion is this? Nikita's or
Nikhil's?

Answers:

1. What
2. Which
3. Whose
4. Which
5. What
6. What
7. Whose
8. Which
9. What
10. Whose
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Ch.-4
Operation
on whole
numbers

Assignments to be done in the notebook.

(2/09/20 to 8/09/20)

Assignment-1
1. Add the following :
)] TCCTLLTTHTHHT
1 9 5 7 6 2 3
0 7 2 4 3
340
7 56

4 3 2 1 2

NEFE N QO

https://youtu.be/H2

i) TCCTLLTTHTHHTO
7 4 3 21 4 052

4 7 6 3214

9 5 3 2 142 0

0 3 7 21 4 36 2

2. Arrange in columns and subtract :

i. 2,52.82,729 from 8,82, 23,344.

ii. Nine crore ninety lakh from ten
crore.

3. The sum of two numbers is 67,35,79,845.

If one of them is 49,27,98,546. Find the
other number.

4. A rice godown owner purchased 16,780
quintals of rice at the rate of ¥ 525 per
quintal. What was the total price of the
rice purchased?

5. Find the product of greatest 5 digit
number and smallest 3 digit number .

6. Find the quotient and remainder and
also verify your answer .

a) 73,552 + 67
b) 55,164+ 60

bNRbZ7w\Vc



https://youtu.be/H2bNRbZ7wVc
https://youtu.be/H2bNRbZ7wVc

7. The product of two number is 38,003. If
one of them is 89. Find the other number.
8. Four friends are sharing a flat. Their
total expenses in the month of January is
%2928.How much money must each
friend contribute?
9. Simply the following by using BODMAS
rule:
a) 84-+[40-{15+(13-9)}]
b) [100+{30-(5%2)}]x15
10. Find the difference between 20 and the
sum of 10 and 3.
11. Subtract the product of 6 and 8 from 100.
12. Simplify the following :
a) 30+6+8x3-10
b) 21+7+ 16-5x%3
c) 15-2%x5+9
d 16+8+4 -2x3
13. If the cost of 25 story books is Rs 525.
Find the cost of 10 story books.

ANnswers:

Add the following :

TCCTLLTTHTHHTO
1 9 5 7 6 2 31

0 7 2 4 32

4 3 2 1 2 3401
7 56 2

4 5 1 7 7 96 26




8 8 0 51 304 8

2.1) 8,82,23,344 if) 10,00,00,000
- 2,52,82,729 - 9,90,00,000
6,29,30,615 00,10,00,000

3. sum of two numbers : 67,35,79,845
One number is : 49,27,98,546
Other number : 67,35,79,845- 49,27,98,546

=18,07,81,299

Thus other number is 18,07,81,299

4. Total rice = 16780 quintals

Cost of one quintal rice =X 525

Cost of 16780 quintals rice = 16780x 525
= 8809500

Therefore total price of the rice ¥ 88,09,500
5. Greatest 5 digit number: 99999
Smallest 3 digit number: 100

Product= 99999x100

=99,99,900

6. a) Quotient = 1097

R Remainder = 53

Check:

Dividend = divisorx Quotient+remainder
73552=67x 1097+53

73552 = 73499+53
73552=73552(Verified)

b) Quotient = 902

Remainder = 44

Check

Dividend= Divisorx Quotient+Remainder

54164 = 60x902+94




54164=54120+44
54164=54164(verified)

7. Product of two numbers: 38,003
One Number: 89

Another Number: 38003+ 89
=427

Another Number= 427

8. Total expenses : 32928
Number of friends: 4

Each friend contributes: 32928+ 4
=3732

Each friend contributes I732
9. a)84+[40-{15+(13-9)}]
=84+[40-{15+4}]
=84+[40-19]

=84+21

=4

b)[100+{39-(5%2)}]x15
=[100+{30-10}]x15
=[100+20]x15

=120x15

= 1800

10. 20-(10+3)

=20-13

=7

11. 100-6x9

=100-54

=46

12.i)30+6+8%3-10

= 5+8x3-10

=5+24-10




Ch.6
Factors and
Multiples

=29-10

=19

ii) 21+7+16-5x3

= 3+16-5%3

= 3+16-15

=19-15

=4

iii) 15-2x5+9

=15-10+9

=24-10

=14

iv)16+8+4-2x3

=16+2-2x3

=16+2-6

=18-6

=12

13. Cost of 25 story books= %525

Cost of 1 story' book = ¥525+25

=21

Cost of 10 story books= 21x10

=210

Thus cost of 20 story books= %210
(9/09/20 to 15/09/20)

Assignment-2
1.Answer the following questions :

a) Write all consecutive even numbers
between 51 and 71.

b) Write all prime numbers between 60 and
80.

c) Write the multiples of 13 which lies
between 50 and 100.

1. Which of the following numbers are
divisible by 4 and 8 ?

https://youtu.be/gar
wCSnpNhl



https://youtu.be/garwCSnpNhI
https://youtu.be/garwCSnpNhI

10.

11.

12.

13.

a) 13,408

b) 26,27,000

Which of the following numbers are
divisible by 2 and 10 ?

a) 23240

b) 37213

Write down the factors of the following
numbers .

a) 18

b) 35

Which is the smallest 3 -digit number
divisible by 4 ?

Write down the common factors of the
following .

a) 100,150

b) 75,125

c) 33,55

Find HCF using prime factorization
method.

a) 25and 65

b) 144 and 198

Find HCF using division method .

a) 119 and 187

b) 115,230 and 345

Find LCM.

12,16,36,40

36,60,72

. The product of two numbers is 2160. If

HCF is 12,. Find their LCM.

The HCF and LCM of two numbers are
140 and 3080 respectively.If one of the
number is 280, Find the other number,
Find the smallest number divisible by
15,20,24,32 and 36.

Find the greatest number which divides
149 and 101 leaving remainder 5 in each
case.

A milkman has containers having
capacity of 180 and 160 litres of milk.
What is the capacity of largest container
that can be used to fill completely by the
containers?




ANswers
1. a) 52,54,56,58,60,62,64,66,68,70

b)61,67,71,73,79
€)52,65,78,91
2. a) 13408

A number formed by the digits at tens and ones
place is 8.Since 8 is divisible by 4. Therefore 13408 is
also divisible by 4

A number formed by the last three digits is 408.Since
408 is divisible by 8 . There fore 13408 is also
divisible by 8.

b) 2627000

A number formed by the last two digits is 0.Since 0 is
divisible by 4. Therefore 2627000 is divisible by 4.

A number formed by the last three digits is 0.Since 0
is divisible by 8. Therefore 2627000 is also divisible
by 8.

3a) 23,240

In 23240 the digit at ones place is 0.Since 0 is
divisible by both 2 and 10.Therefore 23240 is
divisible by 2and 10.

b)37213

In 37213 the digit at ones place is 3. Since 3 is not
divisible by 2 and 10 . There fore 37213 is not
divisible by 2and 10.

4a) Factor of 18=1,2,3,6,9,18
b) Factors of 35=1,5,7,35

5.The smallest 3 digit number is 100.When we divide
it by 4,it gets completely divided in 25times.

Therefore 100 is the smallest 3 digit number which is
exactly divisible by 4.

6. a) Factors of 100=1,2,4,5,10,25,50,100
Factors of 150=1,2,3,5,610,15,25,30,50,75,150
Common factors : 1,2,5,10,25,50

b) Factors of 75: 1,3,5,15,25,75




Ch. -7
Fractions

Factors of 125: 1,5,25,125
Common factors: 1,5,25
¢) Factors of 33=1,3,11,33
Factors of 55: 1,5,11,55
Common factors: 1,11
7 a) Ans: 5
b) Ans: 18
8 a) Ans: 17
b) Ans: 115
9.a) Ans: 720
b) Ans : 360
10. Product of two numbers: 2160
HCF:12
LCM = Product of two numbers+ HCF
=2160+12
=180
11. HCF: 140
LCM : 3080
One Number: 280
Product of two numbers=HCF x LCM
280x another Number= 140x3080
Another Number= 431200+280
Another Number= 1540
12. Ans: 1440
13. HCF 0f(149-5) and (101-5)
= HCF of 144 and 96
=48
Thus the required number is 48
14. We find the HCF of 180 and 162
HCF=18

The capacity of largest container will be 18 litres.

https://youtu.be/9cl
ga094KIQ



https://youtu.be/9c1ga094KIQ
https://youtu.be/9c1ga094KIQ

(16/09/20 to 22/09/20)

Assignment-3

1.Write in mixed fraction :

a) 13/4
b) 16/5
c) 33/5
d) 35/6
e) 32/5
1. Fill in with equivalent fraction :
a) 35=21/__
b) 5/9=___/45
2. Write in improper fraction :
a) 3%
b) 1 %
c) 3%
d) 2%
e) 9%

3. Write in lowest term:
a) 35/49
b) 48/64

4. Add the following:

a) 8/3+9/3
b) 5/4+ 6/4

5. Subtract the following :
a) 9/4-2/4
b) 13/8-5/8
6. Add the following :
a) 1/5+1/3+1/6
b) 3/5+4/10 +5/10
C) 2%+3Ya+4Y
d) 5%+7% +3 %
7. Subtract the following :
a) 1/3-1/7
b) 2/5-2/7
C) 2 %- 1%
d 3%-2%




8. Find the following :
a) 1/25o0f 125
b) 2/3 of 27
c) 3 %of16
d) 5% of 18

9. Find the product :
a) 8/5x 115/64
b) 15 x 25/36
10. Solve :
a) 25+1/5
b) 4/5+71/5
c) 5% +6
d 1%+3/2
e) 2% +2
11. Simplyfy the following :
a) 4/15x (2/4+3/4)
b) 2/3+4/9-1/4
c) 3/5x% (4/9 +1/2)
d) 3/4x2/3+3/4x2/6
12. A herd of cow gives four litres of milk
each day .But each cow gives 1/3 of total
milk each day .How many cows are there
in the herd ?
13. Find 40 +% - 40

ANSWErSs:

1l.a) 3%
b)3 %
)6 ¥
d)5 %

e) 6%
2.a) 35
b) 25
3.a)17/5
b) 11/8
c) 23/6




Ch.-
Patterns &
Data
Handling

d) 12/5
e) 73/8

4. a) 57
b) 3/4
5.a) 17/3
b) 11/4
6.a) 7/4
b) 1

7.a) 7/10
b) 3/2

c) 10

d) 16 %
8.a) 4/21
b) 4/35
c) 13/10
dy17/s
9.a)5

b) 18

c) 60

d) 105
10. a) 23/8
b) 5/6

11. a) 125
b) 4/7

c) 6/7

d) 3/4

e) 11/8
12.a) 1/3
b) 1%

c) 17/30
d) 3/4

https://youtu.be/1R
wh2sb690A

https://youtu.be/Bm
VOX50L9N



https://youtu.be/1Rwh2sb69oA
https://youtu.be/1Rwh2sb69oA
https://youtu.be/BmVOX5oL9N
https://youtu.be/BmVOX5oL9N

Number of students —*
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called

a particular week :

13. Ans: 3 cows

14. Ans:40
(23/09/20 to 29/09/20)
Assignment-4
1.
Exercise 14-a

P on week days of

as
40
35
30
25
20 —
1s
10
e

Mon Tue Wed

Thu
Days

What was the strength of class on Monday ?

On which day, the number of students was maximum ?

How many students were present on Tuesday ?

©On which day, only 20 students were present ?

What was the average number of students present durin

ii)Fill in the blanks:
1. The vertical line in the graph is called

2. A graph drawn using pictures is called

3. The horizontal line in the graph is called
4. The pictorial representation of numerical data is
called .

5. Information presented through numbers is

6. In bar graph the bars may be drawn or




3. Fill in the blanks:




1.1) 40
i) Wednesd
iii) 35
iv) Thursda
v) 36
Il. 1. Y-axis
2. Pictograp
3. X-axis

4. Graph

5. Numericd
6. Horizont
111) a) 500
b) America
¢) India

d) China an

ANsSwers:

Complete the gii
@ 1 i
2 [

4 s.m
i -
11 22
16 179

y




e) 1300

1l”

2. a) Each figure is turned 45 degree in clock wise direction. Correct
answer: option (ii)

b) Each figure is turned 90 degree in clock wise direction. Correct
answer: Option (i)

3.

4.a) 3,6,10,15,21
b) 13,16,20,25,31
5.
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